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S9ll STEX SEN el(STUPZSALSEIH) (e
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
=N EVETE 2,531,000 4,300,000 A1,769,000
=l 950,000
= 330,000
Al 1,251,000
=3CX T8 Y 2Y 2,531,000 4,300,000 A1,769,000
=l 950,000
= 330,000
Al 1,251,000
=3EX E8F 22l(SBNUPZLALSZIH) 2,531,000 4,300,000 A1,769,000
3 950,000
= 330,000
Al 1,251,000
SRERAL Y] 881,000 4,300,000 A3,419,000
101 @124t 18,900 18,900 0
04 JARZRIISES 8,900 18,900 0
OSZEX 24 Hl
35,0008 * 152 * 3% * 6HEHX 9,450
OS2SX HEXY
35,0002 * 152 * 3% * 6IHEHX| 9,450
201 Yereot| 49,490 13,863 35,627
01 AtRZelt| 43,920 8,080 35,840
OSEaH2AY B2 29 30,0008 * 4 120
OJl2 APBE 7 20,0008 * 4% + 128 960
OSZHX IH2S 42 90,0008 * 2007 18,000
OPIPMS=sTUN SBLAE(Q) B2
2,000,008 * 2HAI2 * 23] 8,000
OPIPHS=TEN SBHAENR 5|9 &4
ag 70,0008 * 4% * 33 840
OpIRHE=TSN NZS ¥ DA BDE
2,000,0002 * 2MHAI2 * 23] 8,000
OPIPHSSICUN 2B 442
2,000,002 * 2 A2 * 23] 8,000
02 ZB2Y| 5,570 5,783 ~213
eE3:I-F 1,3008 * 50021 * 43| 2,600
OS4+=5ZEX 2,970
—RRAANRA JI2R2 98,0408 + 128 1,177
—s84 I3 58,8302 * 62 353
—ZsS FIILH oHFBRILHHY]
20,0008 * 122 1,440
202 o1l 19,200 19,200 0
01 =Uyoit] 19,200 19,200 0
OSZXT2Y LRFA 0| 19,200
—2HHOIHl 20,0008 * 62 « 4F « 128 5,760
—22I0fHl 70,0008 * 42 « 4F + 2% 13,440
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PN BHELESE
MM =D X
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S9ll =TEX SEN el(STUPZSALSEIH) (649l &2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
206 T2l 500 700 A200
01 MHEH 500 700 A200
O=ZCX S#AZY W 7Y (WEM S 55)
50,0002 * 55 * 23] 500
311 XYZ0IXta e 105,000 201,425 96,425
02 Al - @+ RPRISIHLIIS XY SO0IR & & 105,000 201,425 196,425
OR4+=ZUXNESEAY NS &8 0k 105,000
—2006\ el o
3,000,000,0002! * 3.5/100 105,000
401 AlEHIL LT 90,000 1,080,000 990,000
01 Al 90,000 1,080,000 990,000
O=ZHX JISAIZE el
15,000,000 * 141 * 6IHEHX| 90,000
801 Ofltil| 597,910 2,965,912 ~2,368,002
01 oIt 597,910 2,965,912 ~2,368,002
ool 597,910,008 * 14! 597,910
SR DAL IHI(E) 100,000 0 100,000
= 30,000
Al 70,000
401 AlEHIL L] 100,000 0 100,000
< 30,000
Al 70,000
01 Al&Hl 99,500 0 99,500
OFHSTUN NYSE HTZTA
500,0002! * 200m * 99.5/100 99,500
= 30,000
Al 69,500
03 Al& =l 500 0 500
OFF=ZUX MY HTIZA L0
500,000% * 200m * 0.5/100 500
=SZSRAL () 1,550,000 0 1,550,000
= 950,000
= 300,000
Al 300,000
402 QI2HXHZ0|H 1,550,000 0 1,550,000
=l 950,000
= 300,000
Al 300,000
01 QAX=EE 1,550,000 0 1,550,000
OB4UIHSEZUT
24,2008 * 64,049.58m 1,550,000
= 950,000
= 300,000
Al 300,000




SH: MOISEAIT
M ZOlAS MEXE
Ol FOAS MEXR(FUASIAUMSONISSHS (e @
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol AF o8 HwsZ
NOHS = AL Dt 1,445,000 1,582,000 A137,000
ZOIAS MBI 1,445,000 1,582,000 A137,000
DIAS META(ZULASKAYMEFI|ZSLS 1,445,000 1,582,000 A137,000
)
Z0IAS KB AY 661,000 878,000 A217,000
201 Yer2g| 8,512 8,500 12
01 AtR2elt| 8,512 8,500 12
OFQULSKANZ YLUY 7S 242
35,000,008 * 20% 7,000
OFVLSKANZ MAMES U WAL 1,512
—ARNHY HRESLLE NS
180,0008 * 524 900
—sJese = 1,2008 * 1024 12
~DRIE EU4 P 200,002 * 104 * 23 400
—2EE ZHLel
10,0002 * 104 * 23l 200
202 01t 1,800 1,800 0
01 =2Uioibl 1,800 1,800 0
OFUASKS ML 22l oyl
20,0008 * 2% * 82 320
OFQASKSEX SXEA O8]
20,0008 * 2% * 302 1,200
OFQUASKANZ AL X2l 22l0i4]
70,0009 * 2% * 23] 280
501 813 630,000 840,000 £210,000
01 BIAEXZ 630,000 840,000 £210,000
OFQULSKANZ EX
30,000,008 * 217t 7 630,000
801 CilHI bl 20,688 27,700 AT,012
01 ol bl 20,683 27,700 AT,012
OFQASTS ofUlll 20,688,000 * 14 20,688
MEOIN XA 784,000 704,000 80,000
201 Yereg| 4,200 4,200 0
01 AtR22lt] 4,200 4,200 0
OMEOINIIZ WAZTE L HARSE 4,200
—UBNH U HHEHELR
80,0002 * 2021 3,600
~TRIED EY 200,0002 * 10 * 23l 400
—2EE ZHl4eltl 100,002 * 104 * 23] 200
202 01t 1,300 1,380 A80
01 =2Uioibl 1,300 1,380 A80
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_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o bRz
OMEOIFTIZ MR 22l 2ot
20,0002 * 2% * 152 600
OMEOIETIZ ZAMLT 22l0it]
70,0008 * 28 * 52 700
501 X2 300,000 650,000 A350,000
01 IS 300,000 650,000 A350,000
OMEOIFTIZ 8K 10,000,008 * 300t7 300,000
801 i1t ] 478,500 48,420 430,080
01 0l bl 478,500 48,420 430,080
MEOHETS OlHIHl 478,500,0008 * 14 478,500
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M 20| FZMBDE
SRl HASENUHIIIZ(HNASFAFNAIIIZSLESIH) (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
Z=01= Xt 2,685,000 2,610,000 75,000
= 273,564
= 68,391
Al 2,343,045
20| ZMESE 2,653,719 2,504,170 59,549
=2 273,564
= 68,391
Al 2,311,764
MASEHSHIIZ(HASFLUFHAHIIZSEH) 782,000 827,000 45,000
HASEHAHH 782,000 827,000 45,000
201 Yer2 Yyl 4,424 4,424 0
01 At 2r2ly| 4,424 4,424 0
O WAZS L WHS2S 4,424
—SolssE 1,20080 * 2021 24
—BNE U HHESELE
180,008 * 2021 3,600
— TR EY 200,0002 * 1CH * 33l 600
—2EE Zylw2ldl 100,002 « 10§ * 23] 200
202 04t 2,180 2,180 0
01 2Uioibl 2,180 2,180 0
OFUEHAIBAS RYRR2l BUHOIY|
20,0009 * 1% *102 200
OFUZNAFTZ AT2el 220
70,0008 * 28§ * 72 980
OFUZNAINZEN #NZAH 01|
20,0002 * 2% * 252 1,000
501 SN2 500,000 800,000 300,000
01 ISR 500,000 800,000 300,000
ORMYFREZ 12,000,002 * 357+7 420,000
OYTYUFLYT2ES
2,000,0008 * 407+7 80,000
801 0iIHIH] 275,396 20,396 255,000
01 0ff il 275,396 20,396 255,000
OFHHHTZ olblYl 275,396, 000! 275,39
BZUHYREN(BZ0IIZSLEH) 1,871,719 1,767,170 104,549
= 273,564
= 68,391
Al 1,529,764
AEZUYRE 1,529,764 1,426,160 103,604
308 XX SISO F 1,529,764 1,426,160 103,604
05 RXISHALES 1,529,764 1,426, 160 103,604
OCI2ZCIT2Hl  19,122,047,0008 * 8/100 1,529,764
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M 20| FZMBDE
Sl JEZUHYLEN(AEZ 0SS H) (25l &2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o B2
o|EZ0i T2 AY 55,500 60,000 A4,500
= 44,400
= 11,100
101 2121t 55,500 60,000 A4,500
= 44,400
= 11,100
03 RINHA2EXE 4 27,750 0 27,750
Oolg202IAl ol
1,817,580 * 1% + 122 21,811
= 17,449
= 4,362
OS2 Z0R2IA ZAF L A EO]
60,0009 * 1% * 122 1,920
= 1,536
= 384
OAlRtel &g 143,5802 * 19§ * 122 1,723
= 1,378
= 345
@ImET| 191,308 * 12§ 128 2,296
= 1,837
= 459
04 JIAHIRZXS L+ 27,750 60,000 £32,250
Od2IoBEA AIRY
1,817,5808 * 1% * 122 21,811
= 17,449
= 4,362
OS2 Z0IR2IA TAF 2 A EOI]
60,0009 * 1% = 122 1,920
=2 1,536
= 384
OAZtel 4 g 143,5808 * 19§ * 122 1,723
= 1,378
= 345
@ImET 191,308 * 19§ * 122 2,296
= 1,837
= 459
o220 #2230 260, 769 260,724 45
= 208,615
= 52, 154
307 Q20| H 260,769 260,724 45
= 208,615
= 52, 154
NIEEEEEN 260, 769 260,724 45
OZMoIRET S #2201
130,033,008 * 14! 130,033
= 104,026
= 26,007
SEEIEES 130,736,002 * 14! 130,736
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SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o bRz
= 104,589
= 26, 147
NZ2Z0f JI22Y 25,686 20,286 5,400
= 20,549
= 5,137
201 Yer2 gyl 17,526 12,126 5,400
= 14,021
= 3,505
01 At el 15,996 12,126 3,870
OARE S| 958,000%! * 122 11,496
= 9,197
= 2,299
SEE=IVE-LIPY 1,000,000 * 25 2,000
= 1,600
= 400
OZEEHEHTY 200,002 * 24 * 53l 2,000
=2 1,600
= 400
oneol +g 10,0008 * 19 * 53| 500
= 400
= 100
2 T2 1,530 0 1,530
OSZZHAZSUSENE 2B
2502l * 6,120 1,530
= 1,224
= 306
202 04t 8,160 8,160 0
= 6,528
= 1,632
01 =2Uoibl 8,160 8,160 0
oL OIHI 20,0002 * 2% « 102 * 122 4,800
= 3,840
= 960
oz elol| 70,0008 * 2% * 22 * 122 3,360
= 2,688
= 672
WeES (012X 31,281 15,830 15,451
BHNS(AEZHIISSESIH) 31,281 15,830 15,451
SEE 31,281 15,830 15,451
802 Bret2IE 31,281 15,830 15,451
02 Al- SHEZ2UE2 31,281 15,830 15,451
O0IZ0IR 1,281,002 * 1A 1,281
O=HHYH2 10,000,008 * 14} 10,000
OXH0SE ¥ JNEY
10,000,002 * 14} 0,000
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SN I SRI(S) - NRAY - B sk Soe B RS2
S AICHAH Q! It 597,000 1,439,000 A 842,000
SAINY 597,000 1,439,000 A 842,000
SADIBE SEHIAHOIBAIZEESIA) 120,000 150,000 230,000
JIBtAIE E24XS 120,000 150,000 230,000
401 Al&HIZL=ROHYI 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OZAIDIBAIE 22X OHe 100,000
—EX0 2,000,000& * 50m 100,000
801 Oldlbl 20,000 50,000 230,000
01 ollgldl 20,000 50,000 230,000
ooyl gl 20,000,000& * 14 20,000
AI0IESEZAHNEAESUHXNEASEIAH(RI0IEHE 477,000 1,289,000 A812,000
AMASAESUHX EAAASESIA)
ZIIDIESEZAAHANEUHR L& 477,000 1,289,000 A 812,000
401 A &EHIL 201 474,500 1,286,900 A812,400
01 Al&HI 467,000 1,272,900 A 805,900
OFEI0IEEH SAIHEANLE B4 467,000
—EX 500,000& * 614m’ 307,000
A4 20,000,000& =+ 4AICH 80,000
—dAd=E 20,000,000& * 4AlCH 80,000
03 Al£=R0HHl 7,500 14,000 26,500
O&EI0IEE SAIHEANLE 24 7,500
—HYOIE 42 7,500
AHEI 42
2,000,000 * 2JHAF » 14 4,000
ENZEg=E=sds+=2 500,000& * 52X 2,500
JIEt Ol =s===2 &  1,000,000& = 14 1,000
801 OlldIbl 2,500 2,100 400
01 olldldl 2,500 2,100 400
oollgldl 2,500,000 » 14 2,500
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SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
e 1,910,000 2,097,000 A187,000
2 Ha 454,000 368,000 86,000
SEHLBRA(SRIHLS B 454,000 368,000 86,000
saBEe 70,760 70,760 0
201 Lty 56,660 56,660 0
01 Attt 6,260 6,260 0
O+ NRHA S=|
30,0002 * 4% + 33 360
OBtEANE Lar=Ty
200,00020 * 1%t * 6% 1,200
OFZAAE Mag 2 4,008 + 5000H 2,000
O+ 222 M 300,000 * 55 1,500
O+ZPH 840 ME 60,0002 * 2074 1,200
02 B2 50,400 50,400 0
OA0I4HEIAIL ®IIRI
250,008 * 1404 * 128 42,000
ON0IQ4HEIAIL SARS 50,0008 * 128 600
Oft&4 +BAMN 248
65,0002 * 10044 * 128 7,800
202 OiH| 14,100 14,100 0
NIENETI 14,100 14,100 0
O+ZQHAIRZA 2A=I01H]
70,0002 * 2% * 352 4,900
OQHEBZH TAOIHl 70,0008 * 23 » 202 2,800
OREEN &S| &4 ol
70,0002 * 2% * 202 2,800
OsFYHSHE Ot
20,0008 * 52 * 3% » 122 3,600
DIEsi+EAIE &X1(2) 327,360 294,360 33,000
201 Yot | 45,360 42,360 3,000
02 222 45,360 42,360 3,000
OIS+ T AL ®IIQ3
3,750,0002 * 128 45,000
ODIS3I4+CAM SHR3 30,0008 * 128 360
307 QI2H0IH 200,000 70,000 30,000
05 PIZteIES 200,000 170,000 30,000
ODIS 54T AIA pIRteIE 2|
130,000,008 * 14! 130,000
O0IR4+HEIAA QI2te|et 2 g |
70,000,000 * 14! 70,000
401 AlAHIL 20| 82,000 82,000 0
01 Al&H] 82,000 82,000 0
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O0tSsot=S AlE 2t H T AtH|
6,000& * 700m * 109H 2 42,000
ODISEH+EL24 22 4|
20,000,00084 = 124! 20,000
OGHEHE . Al EOtSot Jl=& |
10,000,0009! * 2742 20,000
ol bl b 55,880 2,880 53,000
801 oillgldl 55,880 2,880 53,000
01 olidlbl 55,880 2,880 53,000
Oofdlbl 55,880,00081 * 124! 55,880
HES(BFESD 1,456,000 1,729,000 A273,000
HENAX S (SENLS L) 1,456,000 1,729,000 A273,000
LHEHH K & 1,456,000 1,729,000 A273,000
404 BIIG=NES 1,255,000 1,202,000 53,000
01 BIIYSLIANZHES 1,255,000 1,202,000 53,000
Odt=2H & (==HII3)
201,000,00084 = 14l 201,000
OXFIIEES HMAAS (=HIIS)
94,000,000 * 14 94,000
Odt=H2&E 2S(=HDI3)
915,000,0008 * 14l 915,000
OBTLAFE (=301 2 ) 45,000,000 * 14 45,000
701 JIEISI HEES 201,000 527,000 326,000
01 JIEIEIHEES 201,000 527,000 326,000
O2EHM2E 2Z(+=HII2)
104,000,000& = 14 104,000
Ootsotsdts== X (+=HII3)
77,000,0008 = 14l 77,000
Og4atotEot=Z(==2H0132)
20,000,0008 = 14l 20,000
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el B2 (XISASSEEIH) el
_ B} _ SIEN
SNBSS - HRAY - BHES Aboy i 2
YR 432,000 1,572,000 140,000
= 211,179
Al 220,821
sta el 353,394 1,515,180 A161,786
= 211,179
Al 142,215
IRl (X4 3120 353,394 1,515,180 A161,786
= 211,179
Al 142,215
A= 2THH 789, 150 745,000 44,150
101 @121t 2,100 2,100 0
04 JIZH22HS L4 2,100 2,100 0
ONZY 2T WHE RSAHRT o9y
35,0002 * 1% * 602 2,100
201 L2y 34,850 34,400 450
01 AR eIl 32,850 32,400 450
ONZLBTHINE 2 A 4l0l 2,000
—E2UYES 10024 * 20,00004 2,000
OZMUHEXNT U NSBOHHT T
200,002 * 2074 4,000
OSHUHE FHADOIY QYT RIH
200,0002 * 1074 2,000
OZWMHE HFHADOIY B0t R
60,0002 * 1074 600
OBWMHHT AN A 2,008 « 30004 600
OF&es TUIIR (NHBALAE)
2,500,0002 * 244 * 23] 10,000
OBt &L BTN M=
300,0002 * 2074 6,000
OBUUHAMHEYHAE A2 2 4,250
—9IH BHLY 70,0002 * 5% 53] 1,750
—NE MRS 30,0008 * 58 * 53] 750
— & A 04t 70,0000 * 5% 53] 1,750
OZYE 22= 1,800
—5t= 10,0008 * 4% * 13] 400
-s= 100,008 * 4% 13| 400
—gtat 50,0002 * 4% + 13l 200
—ys= 200,0002 * 4% * 13l 800
O 22X EA
5,008 * 2% * 202 * 8IHE 1,600
2 222 2,000 2,000 0
Ost& & 3l 2,000,0008 * 13l 2,000
202 01t 17,200 12,900 4,300
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A Xl==ZTHL
Y oteel
chel: S22 (XA EE3IH) (etel: =3
_ _ HE T
SNBSS - MEAY - BES 0] &F o il ot o Bz
01 =W 17,200 12,900 4,300
OZ LI 20,0003 * 4F » 15¢ * 123 14,400
O&2 ¢l 70,000& * 43| » 10 2,800
207 A0 60,000 50,000 10,000
01 2 E 2] 60,000 50,000 10,000
OGtEZSMUE X AHMSILZE L AHS THOH
Jes HdE 29| 300& = 200,000m* 60,000
401 A &HIL 204 675,000 645,600 29,400
01 Al&HI 175,000 20,600 154,400
OJIE2Z AFE A I 20,000
—OolEEMMFAUEX ZASE SAE AL
2,000,000& = 1094 X = 20,000
OAI&Hl 165,000
— =AY 2202 E=+HY XAl
500,000& = 108+ 5,000
—SHHAE XD =HZHIAS
500,000& * 100m * 3K+ 150,000
03 AIE=20bl 500,000 625,000 A 125,000
OAMALZSMIMHF &Hl L= (HLE)
2,500& * 200,000m 500,000
ollgl gl 72,244 258,130 A 185,886
801 OlHIHI 72,244 258,130 A 185,886
01 olbldl 72,244 258,130 185,886
oollgldl 72,244,000 * 14! 72,244
StEANESRA22(E) 192,000 212,050 A 20,050
& 61,179
Al 130,821
101 QI Z4H| 104,000 72,050 31,950
= 17,179
Al 86,821
02 JIEtAE = 104,000 72,050 31,950
Oodtd2 Al HAZE 1A 104,000
—Jl2s 2,000,000  4H = 123 96,000
= 17,179
Al 78,821
—d2=E 96,000,000& = 1/12& 8,000
401 Al&HI LS04I 88,000 140,000 252,000
= 44,000
Al 44,000
01 Al&H| 87,384 138,992 251,608
OJIdH & =2 FHIAIE
88,000,000& = 14l » 99.3/100 87,384
= 44,000
Al 43,384




A X2 TH
Mz ot el
o2 S22 (R A S L) (9 E2
SA B B(E) - NEAY - BAS s e HInE
03 Al 20| 616 1,008 A 392
OJIEH 2 +2BHINE 2O
88,000,000& * 141 = 0.7/100 616
SIAANEF AR RE2 (L) 300,000 300,000 0
= 150,000
Al 150,000
401 AIEHIZ 2 300,000 300,000 0
= 50,000
Al 150,000
01 Al&HI 297,840 298,560 AT20
OZIIMEHIAF 750,000 * 400m * 99.28/100 297,840
= 150,000
Al 147,840
03 Al 20| 2,160 1,440 720
O=IMEBIAS 750,000 * 400m = 0.72/100 2,160
HE2AZH (=) 78,606 56,820 21,786
IHASHH(XI=AISELE S AH) 78,606 56,820 21,786
HEAFZE ol 2I| 78,606 56,820 21,786
101 elHH| 65,050 45,915 19,135
01 2= 41,600 29,530 12,070
OZAZ A 130,000& * 4% = 12& 6,240
OusExH] 120,0008 * 4% « 12& 5,760
OZ 2SIty 96,000,000& * 1.2/12 9,600
OItAH X & Hl 96,000,000& * 2.0/12 16,000
OHII2 4| 96,000,000& * 15/360 4,000
02 JIEtEE = 23,450 16,385 7,065
Otz 3,840
—t 2 X 40,0003 » 49 ~ 128 1,920
—SLIE 20,000& * 8% = 123 1,920
(OFER=] L= =, 832
— =5t 51,9903 * 4% * 43| 832
O&ZaY Jtag 6,240
—25E 01 & 130,000& * 4% « 12& 6,240
ogdst=g 360
- & 30,000& = 1" = 123 360
OAlzte 2249 12,178
—HH 6,3423 » 4F = 10AI2t = 12& 3,045
—Z22Y 9,133
204 ML AY) 7,440 5,580 1,860
02 Mg et 5,040 3,780 1,260
OS2 x| 105,000& * 4% » 12& 5,040
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S RIS
A HAH2AAH(X=LTH)
SHel: o2 AHI(RISAtESE3I) (e &
_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
03 SR 2,400 1,800 600
OSHYLLHSSH|(HAUESH)
50,000& * 4% » 123 2,400
303 &= 6,116 5,325 791
02 dtaoi=s 6,116 5,325 791
OFAIE g1 &3 6,116
—S= 1,365,000 * 42 = 20% » 230% 2,512
—AS 1,365,0008 = 4 * 30% * 100% 1,638
—BS= 1,365,000& * 4Z * 40% = 90% 1,966
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